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Let i be a root of the equation 22 + 1 = 0 and letw be a root of the equation % +x + 1 = 0. Construct a polynomial
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fl@)=ay+ a1z + -+ + apa"

where ag, ay, ... ,a,are aluch that f(i +w) = 0.
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Let a be a fixed real number. Consider the equation
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(+2%z+7) +a=0,z€R

where R is the set of real numbers. For what values of a, will the equation have exactly one double root?
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Consider @ right-angled trijngle wit S a<b<cw ere(mL td = c—b. uppoSe d divides n.s
Then = \_/ ‘:_ —

(a) Prove thatd < 2 C= ,b.‘. A
e
(b) Find all such triangles (i.e., all possible triplets a,b,c) with perimeter less than 100.
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Let x, = ncosﬂ and x,= z«:osﬂ. then show that
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